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Calculate the Diversity index of the meadow:
1. Multiply the number in each
 	separate species (n) by n-1.

2. Determine the total for all
n(n-1) values.

3. Determine the total number
of individuals (N) in the meadow.

4. Substitute the calculated values
in the Diversity Equation:






Calculate and compare the diversity site A and B:
[image: ]
Site A:
	Species
	Number (n)
	n(n-1)

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	N = ∑n
	∑n(n-1)



Site B:

	Species
	Number (n)
	n(n-1)

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	
	

	
	N = ∑n
	∑n(n-1)
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Mean number of organisms per m

Organisms of river bed
Site A Site B
Polycelis (flatworm) 132 9
Tubifex (worm) 0 6
Erpobdella (leech) 3 26
Limnaea (snail) 9 0
Thyas (mite) 14 0
Anabolia (caddis larva) 15 1
Simulium (blackfly larva) 77 0
Chironomu s (midge larva) 0 10
Ecdyonurus (mayfly nymph) 43 0
Baetis (olive mayfly nymph) 154 0
Asellus (water hog louse) 0 40
Gammarus (freshwater shrimp) 211 6
Bullhead (fish) 1 0
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Simpson's Diversity Index (D)

Species

Number 

(n)

n(n-1)

Festuca grass 72

Field Scabious 23

Buttercup 19

Dandelion 15

Clover 8

Mallow 5

Total

N

S

n(n-1)
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Example

				Simpson's Diversity Index (D)

				Species		Number (n)		n(n-1)

				Festuca grass		72

				Field Scabious		23

				Buttercup		19

				Dandelion		15

				Clover		8

				Mallow		5

												D =		0.00

				Total

						N		Sn(n-1)



Plant Population in 
a meadow
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